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QUESTION 1

Which two items are always part of a case management solution? (Choose two.) 

A. Analytics 

B. Content objects 

C. Database lookups 

D. Process fragments 

E. System integrations 

Correct Answer: BD 

 

QUESTION 2

During the requirements phase, there are tasks that need to be added to the case at the discretion of the knowledge
worker but not seen until started. Which task type is used for this purpose? 

A. System 

B. Optional 

C. Required 

D. User Created 

Correct Answer: D 

 

QUESTION 3

Which of the following is NOT part of iLog JRules? 

A. Rule Project 

B. Rules Team Server 

C. Ruleset Components 

D. Ruleset Archive Components 

Correct Answer: B 

 

QUESTION 4

Which two statements are correct about a target object store? (Choose two.) 
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A. It cannot have more than one target object store in production. 

B. It contains the run-time cases objects when users create cases. 

C. It must be associated with its own Process Engine connection point. 

D. It is used to organize and manage the solution packages and artifacts. 

E. It is used by business analysts to modify a solution design that has been deployed. 

Correct Answer: BC 

 

QUESTION 5

A solution package is a set of XML files and folders that are the artifacts of a solution. The package contains a Solution
Definition File (SDF), a Process Engine (PE) Configuration File, a Workflow Definitions, and a "Pages" folder. What is
the file that contains the application space, roster, event logs, queues, in-baskets, roles, and step processors? 

A. PE Configuration File 

B. Solution Definition File 

C. Workflow Definition File 

D. Workflow Collection File 

Correct Answer: A 
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